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int main(void)

{
int *a; // act= 01E 9 intd ZOIE
char *b; // bete= 01E 2 charg ZQIH
double *c;// cete 0182 double® I OIE
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#include <stdio.h>
int main(void)
{

int a=2005;

intx pA=&a;

printf("pA : %d Wn", pA);
printf("&a : %d Wn", &a);

(*pA)++; [la++2t 22 2I01E K.

printf("a : %d Wn", a);
printf("*pA : %d Wn", *pA);

return 0;




1. Z2IH O|3f{st7|

- HOIHO0 Cteret EI Ol EMol= 0l=
>

IOIH B2 &#A4g H222 )| EE2E M=

#include <stdio.h>
int main(void)
{
int a=10;
int *pA = &a;
double e=3.14;
double *pE=8&e;

printf(“%d %f”, *pA, *pE);
return O;
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#include <stdio.h>
void main(void)
{ Def findMin(alist) :
int tmpNum1 = 10; minsofar = alist[0]
int tmpNum?2 = 20; foriin alist :
int tmpNum3 = 30; if i < minsofar :
minsofar = |
for(tmpNum1; tmpNum1<tmpNum3; tmpNum1++){ return minsofar
for(for(tmpNum1; tmpNum1<tmpNum3; tmpNum1++){ o _
int x = tmpNum1 * tmpNums3; print(findMin([5, 2, 1, 0]))
inty = tmpNum1 * tmpNum1; print(findMin([0, 2, 3, 4]))
int z=tmpNum3 * tmpNum3;
} for listSize in range (1000, 1001, 1000) :
} alist = [randrange(100000) for _ in range(listSize)]
start = time.time()
for(tmpNum2; tmpNum2<tmpNum3; tmpNum2++){ print(fir!dMin.(aIist))
int tmpNum4 = tmpNum?2 * tmpNum3; end = time.time()
} print(“size : {}, time: {}".format(listSize, end—start))
int tmpNum>5 = tmpNum3 * tmpNum4,;
}







#include <stdio.h>

float sum(float list[], int n)

db n | -
{ list
float tempSum = 0.0f;

inti=0;

for(i=0; i<n; i++){
tempSum += list[i]; list (ay1, a0, A13,**, A1p)

}

return tempSum:;

}

#include <stdio.h> tempSum += list[i];
}

< n >
T{Ioat sum(float list[]1[4], int n) r}etum empSum: ====== ‘
float tempSum = 0.0f; } list
inti=0,j=0; .-.-..
for(i=0; i<n: i++){ ...... |

for(j=0; j<4; j++){
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#include <stdio.h> . . ) )
#include <time. h> {[nt Swap(int* headNum, int* tailNum)

#include <stdlib.h> int temp = *headNum;

#define ATOM_SIZE 10000 *headNum = tailNum:

*tailNum = temp; )
int main(int argc, charx argv[], charx env[]) ! Input aaa

{ srand(time(NULL)): void Shuffle(intx container)
clock_t start = 0.0f, end = 0.0f; t int idx = 0: phasel AENENEAEYE

int atomCarrier[ATOM_SIZE] = {0, };

ntidx =0, iay =0 for(; idx<ATOM_SIZE; idx++){ m
Shuffle(atomCarrier); container[idx] = rand()%1000; phase2 a

}

}
start = clock();
e OOO00

for(; iIdx<ATOM_SIZE; idx++){
for(idy=1; idy<ATOM_SIZE; idy++){
if(atomCarrier[idy] < atomCarrier[idy—1]){ .Ba
Swap(&atomCarrier[idy], &atomCarrier[idy—1]); phase4 /
}
] phases 6[7[8[9]

end = clock();

printf(“= : %0.41f Wn, L 2l= : %0.4If Wn”,
(double)(end-start)/1000, (double)(end—start));







